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43. Who among the following sits third to the left of 

S? 

(a) U  

(b) M 

(c) V  

(d) R  

 

44. Thirty members are standing in a row. How 

many persons are between Khatija and 

Kanmani?  

(i) 13 persons are standing to the right of 

Kanmani and 15 persons are standing to 

the left of Khatija.  

(ii) 18 persons are standing to the left of 

Kanmani and 13 persons are standing to 

the right of Khatija.  

(iii) 17 persons are standing to the right of 

Khatija and 26 persons are standing to the 

right of Kanmani.  

Which of the above statements are sufficient to 

answer the question? 

(a) Only I 

(b) Only I and II 

(c) Only II and III 

(d) Each statement alone is sufficient 

 

45. Statements: All fonts are styles. All styles are 

paras. Some paras are boards. Some boards are 

files. 

Conclusions: 

I.  Some paras are fonts. 

II.  All files are paras 

(a) only I follows 

(b) only II follows 

(c) neither I nor II follow 

(d) both I and II follow 

 

46. On 4th December 1993, Vijay and Ajith 

celebrated their Birthday on Saturday. What 

will be the day on their Birthday in 1997? 

(a) Wednesday 

(b) Thursday 

(c) Friday 

(d) Tuesday 

 

S.(47-48) Direction for the following 2 (two) 

item: Read the following Passage and answer 

the items that follow. Your answers to these 

items should be based on the passages only.  

PASSAGE 11 

The development of any country depends fully 

on the education of its people. Basic education 

is viewed worldwide as a human right. For this 

reason, ‘The Right of Children to Free and 

Compulsory Education Act, 2009’ came into 

the picture. All educational innovations require 

strong community support and participation. 

‘People’s acceptance and participation’ can be 

used as an indicator for measuring the progress 

of the various programmes. Therefore, to 

spread awareness among the rural people 

about the need and significance of education, 

more efforts have to be taken by the 

government, educated youth of urban towns 

and cities, teachers, young scholars, etc. 

 

47. What is the most logical, rational and crucial 

message conveyed by the passage given 

above? 

(a) Young scholars have the biggest role to 

play in the education of a nation such as 

India 

(b) India has a comprehensive and 

modernized education policy 

(c) The rural areas of India need more focus in 

terms of education than the urban areas 

do 

(d) Education plays a key role in the 

development of a nation 


